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= = Y\ N i | = = T [ = A = =
lome BT e | B2 | T mme | e | =2 | | e T | B2 e | G | T
1 100kN/mM#Z#BZ % 1.00{0.00 ~ 2.04 130.92| 3mZE#EZ 5 =] ~ = - -| 100kN/M%#BZ % 1.00| 12.89 ~ 37.17 130.92| 3m%Ei#EZ % =l ~ - - =
ZhLst 1.00| 2.04 ~ 10.06 100.00f #hLis [0.00 ~ 10.06| 2.84 14,37 Zhst 1.00f 5.00 ~ 12.89 100.00f #n st | 500 ~ 37.17| 2.84 14.37
2 100kN/ Mz x5 1.00/0.00 ~ 2.42 137.03| 3mZE#BZ D =] ~ = - -| 100kN/M##E% % 1.00| 12.15 ~ 37.63 137.03| 3m%BZ 5% =l ~ - - =
Zzhst 1.00] 2.42 ~ 10.43 100.00] Zhiist [0.00 ~ 10.43| 2.91 14.71 ZThs 1.00] 5.00 ~ 1215 100.00f #h st | 500 ~ 37.63| 291 14.71
3 100kN/m#Z#8 x5 1.00/10.00 ~ 2.13 132.34| 3m%#BZ % &l ~ = = —| 100kN/mi%8 2% 1.00| 12.69 ~ 37.13 132.34| 3m%Ei#BZ % =l ~ - - =
zhnLst 1.00] 2,13 ~ 10.14 100.00f £hrist |0.00 ~ 10.14| 2.86 14.45 zhLs 1.00] 5.00 ~ 12,69 100.00f #h s | 500 ~ 37.13| 2.86 14.45
4 100kN/ %482 % 1.00] 0.00 ~ 1.91 128.84(3m%x#B23| - ~ = = —| 100kN/ Mm% 2% 1.00| 13.22 ~ 37.41 128.84| 3m%E# 25 = ~ = = =
zhnLst 1.0011.91 ~ 9,92 100.00f Zhrist |0.00 ~ 9.92| 2.82 14.26 ThLs 1.00| 5.00 ~ 13.22 100.00f #n kst | 500 ~ 37.41| 282 14.26
5 100kN/M#Z#BZ % 1.00 0.00 ~ 2.03 130.70| 3mZ# % 5 -~ = - —| 100kN/mM% 2% 1.00{ 12.94 ~ 37.54 130.70| 3m%iE % % =~ - - =
Zh st 1.00| 2.03 ~ 10.04 100.00f Zh st |0.00 ~ 10.04| 2.84 14.35 ZFh st 1.00f 5.00 ~ 12.94 100.00| £hbLlst | 5.00 ~ 37.54| 2.84 14.35
6 100kN/mM#%#2Z % -l -~ = —-|3mZEEZSH| -~ = = —| 100kN/ Mm% 2% = -~ = -|3m%Ei#EZ % -~ = = =
%) 1.00/0.00 ~ 5.25 63.43] =h st |0.00 ~ 5.25| 1.67 8.46 ZFh st 1.00f 5.00 ~ 5.75 63.43] Zhist | 500 ~ 5.75| 1.67 8.46
100kN/mMZ#8Z % ~ ImEHBZD ~ 100kN/mM#E#B A5 ~ ImZEHBRD ~
Zhpst ~ Zhst ~ Zhst ~ Zhst ~
100kN/i%#8% % ~ 3Imx B2 D ~ 100kN/mM# 8% % ~ 3ImEHEZD ~
ZHLst ~ Zhst ~ Znst ~ st ~
100kN/mi%# 2% ~ 3mEREZ D ~ 100kN/ Mm% B2 5 ~ ImEHEZD ~
ZNLLst ~ ZhLlst ~ ZnLLst ~ Zh sk ~
100kN/mM%#8 2 % ~ 3mx 25 ~ 100kN/m##BZ % ~ 3ImERBZ D ~
Zh st ~ Zh st ~ Zh st ~ Zhs ~
100kN/ M Z#EZ 5 ~ 3mEBZD ~ 100kN/m#E#B 2% ~ ImEBZD ~
ZHLLSH ~ FhList ~ ZHLIst ~ FhLish ~
100kN/ %82 % ~ ImEEZD ~ 100kN/mi%#B 2% ~ ImEEZD ~
ZHLLst ~ ZhLlst ~ LSt ~ ThLsh ~
100kN/mM#E#B % % ~ 3ImE 2D ~ 100kN/ Mm% B X5 ~ 3mEHEZ D ~
ZHLLSh ~ zhst ~ ZHnLst ~ zFhs ~
100kN/ %482 % ~ 3mEREZS ~ 100kN/ Mm% %5 ~ ImEEZD ~
ZhLst ~ zhist ~ Zh st ~ zhst ~
100kN/ Mm% %% ~ 3mEBZD ~ 100kN/ M#%#B 25 ~ 3mEBZD ~
ZhLst ~ zhst ~ Zhst ~ Zhst ~




